HOME WORK

Fandamentals of Machine Component Design

a maximuum shear element

σmax =(( σx +  σy) / 2) +√ (( σx +  σy)2 / )2 + τxy2

σmax =((12.738 + 0) /2) + √((12.738 + 0) /2)2 + 0.4572282

σmax = 12.734 MPa   Ans.
.


σmin = ((σx +  σy )/ 2) -√ (( σx +  σy) / 2)2 + τxy2
σmin = ((12.738 + 0) /2) - √((12.738 + 0) /2)2 + 0.4572282
σmin = -0.0103 MPa. Ans.

τmax =  √ (( σx +  σy )/ 2)2 + τxy2
τmax =  √ ((12.738 + 0)/2)2 + 0.4572282 

τmax =  6.393 MPa  Ans.

σAVg = ((σx +  σy )/ 2)

σAVg = ((12.738 + 0) /2)

σAVg = 6.369 MPa. Ans.
  
